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) AR O T inICBEET 5L i 2ERA
ﬁ;ﬁg TREOBHOEILADKRES TREDOHBEBSILADKRES TREOBHOEILADKRES TREDHBESSLNDKRES
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; 100kN/m%#B% % — -~ - —|3mZzEZB| — ~ — — — | 100kN/mM%# %3 — - ~ — —|3mZEBZ B - ~ — — —
znLs 1.00 | 0.00 ~ 4.72 5888 | #nkst | 000 ~ 472|181 912 znLs 1.00 | .00 ~ 5.00 5888 | #nkst | 5,00 ~ 500 1.81 912
2 100kN/mM%#B% % — -~ - —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZEBZ B - ~ — — —
znLs 1.00 | 0.00 ~ 5.88 73.64 | TRRS | 000 ~ 0.00]| 1.66 8.38 znLs 1.00 | .00 ~ 6.76 73.64 | TN | 6.00 ~ 6.76 ] 1.66 8.38
3 100kN/mM%#B% % — -~ - —|3mZzEZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZEBZ B - ~ — — —
s 1.00 | 0.00 ~ 6.88 87.13 | #4000 ~ 0.00|1.72 8.70 znLst 1.00 | 5.00 ~ 8.49 87.13 | #hs | 6.00 ~ 849 |1.72 8.70
4 100kN/mM%#B% % — -~ - —|3mZzEZB]| — ~ — — — | 100kN/mMi%# %3 — - ~ — —|3mZEBZ B - ~ — — —
Fh s 1.00 ) 000 ~ 764 97.91 | #nLs | 000 ~ 764]220 11.12 Fh s 1.00 | .00 ~ 1017 97.91 | #hs | 5,00 ~ 1017]2.20 11.12
5 100kN/mM%#82% | 1.00 | 0.00 ~ 061 109.07 |3mZz#BRB| — ~ — — — | 100kN/mM%E#BZ5 | 1.00 | 1066 ~ 1249| 109.07 |3mEREZD - ~ — — —
Fh s 1.00 | 0.61 ~ 840 100.00 | #ns 000 ~ 840|211 10.67 Fh s 1.00 | 5.00 ~ 1066 100.00 | ThLS |5.00 ~ 1249|211 10.67
P 100kN/mM%Z#B% % — -~ - —|3mZzEZB| — ~ — — — | 100kN/m%#8 %3 — - ~ — —|3mZEBZ B - ~ — — —
Fh s 1.00 | 0.00 ~ 741 94.52 | #hst | 000 ~ 741|204 10.52 Fh s 1.00 | 6.00 ~ 10.00 94.52 | #hLSY | 5,00 ~ 1000 2.04 10.52
- 100kN/mM#Z#BZ2% | 1.00 | 000 ~ 029 10427 |3mEBZB| — ~ — — — | 100kN/mM%E#BZ5 | 1.00 | 11.29 ~ 1225| 104.27 |3mEkEZD - ~ — — —
Fh s 1.00] 029 ~ 807 100.00| Fhils | 000 ~ 807|202 10.19 Fh s 1.00]5.00 ~ 1129 100.00 | TnLS | 500 ~ 1225 2.02 10.19
g 100kN/M%#82% | 1.00 | 000 ~ 184 128.35 |3mZzBRB| — ~ — — — | 100kN/mM%#BZ5% | 1.00 | 1066 ~ 1800| 12835 |3mEkEZD - ~ — — —
Fh s 1.00 | 1.84 ~ 9.63 100.00 | #hlst | 000 ~ 9.63] 229 11.68 Fh s 1.00|5.00 ~ 1066 100.00| TN | 5.00 ~ 1800 | 2.29 11.58
9 100kN/mM%Z#B% % — -~ = —|3mZzEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZEBZ B - ~ — — —
Fh s 1.00 | 000 ~ 740 94.37 | =0 | 000 ~ 740|234 11.83 Fh s 1.00 | 5.00 ~ 10.00 94.37 | =S | 5,00 ~ 1000 2.54 11.83
10 100kN/mM%Z#B% % — -~ = —|3mZzEZB| — ~ — — — | 100kN/mM%#8 %3 — - ~ — —|3mZEBZ 5 - ~ — — —
s 1.00 | 0.00 ~ 4.64 57.89 | NS | 0oo ~ 464|1.86 9.38 s 1.00 | 5.00 ~ 5.00 57.89 | #nLst | 500 ~ 500 1.86 9.38
100kN/mM%#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZDS ~
Zh s ~ ZhLs ~ Zh s ~ ZhLsh ~
100kN/mM%#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
Zh s ~ ZhLsh ~ Zh s ~ ZhLs ~
100kN/mM%Z#B% % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZD ~
Zh s ~ ZhLsh ~ Zh s ~ Zh s ~
100kN/mM%Z#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
Zh s ~ Zh s ~ Zh s ~ ZhLsh ~
100kN/mM%#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZDS ~
ZnLs ~ ZThLs ~ ZnLs ~ ZhLs ~
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